B OE M 6T ER) TH ke



& B B &

-1
%4 ® AR ~T: &t -1 = B BAfT
BB (¢ T5) 1675 B R
b 75X ¢ 75 1 355 KA E HIX LY 1
75V KEF FsF—R HEgk77. ZN
1 n 1
R kAR B "
1 n 1
B— L RE R $ 75X 100L 1
1 ” 1
ATAVL ke $ 75X200L 7.5K JIE
2 ” 2
75 VAR ¢ 75 #H
2 ” 2
L5 o— 75X ¢ 50 (]
2 " 2

EF V4 ok ¢ 50 JIE




i L (1675 %) 15 ke



i& =R = Sohe
B 8]
-1
%4 ® AR ~T: &t = B BAT
EAiEk T (6 75) 165 AR
(FEEA) 0.078 x 1 BEE|K-159 0.08
RIVZF L EAER L o 75 m
2H (BAEHES) 1 " 1
RV F LA T $ 75 ]
2 ] 2
TV ® 75 ]
21 (AAEHES) 2 [ 2
RV F L AT T ¢ 50 ]
1 ) 1
H KRR E L B "
1 ] 1
kAR T 3% ¢ 500 (&




=R
=R

%

T

WMk EZEE T-1 ¢ 75m/m

IVsi=L,

M35 ¢ 500 (L vayy)—hl)

ElmE

B T 2]

BF $500 T2
(EEREL 2

i !H.ﬂ.ﬁ:{-.“a_-#'uﬂ.!stﬂ ; WO wTF
& LH® (L 100 0y _ E-pEamiEdE (RF-RF)
=1 LREERINE
8 g SERE (VY 37 v
2 E = —RE R A PR TS uimt (RE-RF)
= 1 i 75 3 200
s ﬂ THEE (LY 17 0 FILUBEENS O
= El - == [._:t:);;ﬂju.u?m }' = BELFL | :a
1 E::g 7_):/:;‘::::—1
= = BEILTU—F
b = {21.0-40-8 )
¢ e G § o
E__ /{y* :ﬁ 1'—‘, TFulw—F L
250 J
4 R Mok i & K & B
HAREEET-1 ¢75m/m VGV,
IT9x%—7 0.80 X 0.80 0.64
FERERA t=15cm m2
0.80 X 0.80 X 0.02 0.01
W LA L 1:3 m3
1
BE ¢ 500 HH.
1
I E /LS L S
1
AVREERE R b L=150 tyh
1
EREEQ Y a7 my)) 500 X 200 &l
1
FREREE (L a7 ay)) 500 X 100 &
1
THEEE (VY av 7 ay)) 500 X 200 &
1
JESR (L'av 7 ay)) 500 % 40 1
37 1
Vy'ay 7 ay s iEAt MJE ¢ 500 Vil




%

EL
HL

i

T

AR ET -2 ¢ 75m/m

Vi1,

M35 ¢ 500 (LY vayy)—pil)

BImmE

B0

260

15120

no ETFEELE

FTLUET CF-RE
@75 = 200L
FTLUBHESER T

Gowlw -G

ERmE
5670
a% gm0 125 [ 2240 £
iEREL i
S F R R
L-150
EEE (L3699 ¥ -REUER (RF-RF)
= @75=100L
= R (L3733 0ah)
W
®
H
BB (L5157 098 - .
(4 V0 - L1 == BELEL ) i3
e T
ZAETTNR S
A i .4(\ B
y b FI e FF—X
7 = 15w 615

240

FHaLHU—F

0

_ 150

4 21.0-40-H )

PIvLa—T 0

& B Mok it " = & B
HAR=EFEET-2 ¢ 75m/m 15 FT40
DI —T 0.45 X 0.60 0.27
Z ARG T t=15cm m2
{( 030 + 0.40 )x 1/2 X 0.24 0.25 X
Z R SN
0.24 }x 2 - 0.090 * X = 4 X
/2 X 2 0.28
( 030 + 0.40 )x 1/2 X 0.24 0.25 -
%Easy)—h 21.0-40-8
009 > X = / 4 X 1/2 0.25 0.02






